2 PH2 14EEEEHICHT D MBS
(6) & m fifi 1%

%= 1,
THE | premerm ) | st <) B = A A
It 1
AOH O & (FefE== i)
wm B W 186 105 410, 748 195, 901 428,182
WM W 172 150 75,186 72,464 76, 261
N BT 160 143 79,823 79, 823 79, 442
WooW 613 160 81,420 81,420 79,155
|& = 173 109 81,216 76, 676 82, 367
oW T 174 137 31,815 31,815 32,155
£ B W 181 152 69, 339 109, 468 74,043
= #W# 152 80 76,922 78, 839 81,083
BWooW A 215 114 36,202 | 36, 222 36, 784
r BT 140 59 11,410 10, 964 9,851
% 5 7 A A 183 95 18, 760 18, 760 18,760
=R 188 127 78, 629 78, 628 79, 297
T TR ) 193 140 19, 250 19, 250 19, 250
- - 344 222 | 24,780 24,780 24,780
£k HT 123 70 57, 470 57, 470 57,470
£ % W 158 72 57,000 52, 900 56, 430
¥R AT 168 106 28, 480 28, 480 28, 480
N 165 85 58,288 58, 288 58, 072
it B 151 89 71, 956 71,956 71, 956
B 171 96 72, 800 72, 800° 72, 800
Y 181 105 39,126 39,126 44,419
NSO i) 176 99 31,458 32, 100 33,063
> 5 & W 303 262 46,465 46,465 49,073
WA X LA 171 106 54,121 54, 049 54,121
i 613 160 410, 748 195,901 428,182
A 344 262 78, 629 78, 628 79, 297
[N 613 262 410, 748 195, 901 428,182
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(B4 o)

- i) | TS
428,182 20 |18 B T
76, 261 106 |%& M T
79, 823 101 [ 48 B 7
81,420 54 |’ ®TH
32,367 128 |& ¥ )0 W
32,155 28 (W W
109, 468 63 |1 B W
81,083 20 |2 W
36, 784 52 (B W WT
11,410 20 | £ B ET
18,760 22 |42 R i A A
79, 297 67 |G #  HI|
19, 250 74 |# W HT)
24,780 216 B8 & AT
57, 470 23 | Wk HT
'57,000 148 |32 ¥ Hr
28,480 32 ¥ & HT
58, 288 —| & W
71,956 —lde & E
72, 800 —|& &
44,419 19 [ = A
33,063 13 | 4k HT
49,073 326 [0 % ¥ H
5;1;121 95 |3 & X L HT

428,182 128 T
79, 297 326 | HI A
428,182 326 | =)
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